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You have been called for the written test based on the online data furnished by you in the web application. |f you have
wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature
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Question booklet series code (A/BICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided. ‘
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12.
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15.

-Gt # 3R ATH AT Hefshaies S g & ford |

Enter your Name and Roll Number correctly in the question booklet.

HNTHAIR JeaR-Iieaa # @l vfafSear s/ T & di@ 95e 9 & o & e
TG T|

All entries in the OMR answer shest should be with blue/black ball point pen only.

7 g AUiRa degar & 3R w), Of@d 9ler av sed I & Ay aegfess ® H
g, [ & &ad v 3Efesy §F F e gem|

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

MUY, SecR-gieaa 7 U 71w Feqeel & @R, aAe/Hel T F dd g 9T 7
mmm-gmﬁmamﬁmmaﬁmeuw HLET Bl

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.
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Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.
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Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed inside
the written test hall.
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On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with you.
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The question booklet can be retained by the candidate.
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Candidates are not permitted to leave the examination hall during the first hour of the examination.
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The written test is conducted only to shortlist/screen-in the candidates for interview.
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doeehl el (Soaciiaiad) / TECHNICAL ASSISTANT (ECE)

eIt AT 9RO &I 3M3eqe ——— 37afed &7 e The output of the circuit shown will be of
frequency

(a) 125Hz

(b) 250 Hz QUASE N 7 T e

(¢) 375Hz K _I_.

) 500 Hz

ITSETURT &I H TEAT 149 &/The number 149 in octal code is
(a) 154 (b) 178 © 254 d 225

Ifader 9T 8§/ Universal gates are
(a) 3R & TUS AT/ OR & AND gates (b) A& AUSAT/NOR & NAND gates
(c) AR & TWEIE/NOR & AND gates (d) =TU8 & IR IAT/NAND & OR gates

9ol Ak A g1 &/ In full adder, there are

(2) & argeT{l e SYC TUT &l 3M3eYe/Two binary number inputs and two outputs

(b) et TSR 3ieh geTge AT &1 sg={r 313¢qe/ Three binary digit inputs and two binary outputs
(c) 1T SIS 3k GoT9e AT cflT SIS 3k 3M3¢9e/Three binary digit inputs and three binary

digit outputs
(d) U8 & I A/NAND & OR gates

e feeH &1 FET @ §/The main advantage of PCM system is lower
(a) oz dlsE/bandwidth (b) erfFd/power
(c) 3TaTs/noise (d) 378 @ TodT 8f A8i/none of these

N el & HaR F & o0 TsA Bfase qgachds anr fHz # @ffa 9@+ ds @1 snfEa

festas ds dles ——— &M/To transmit N signals each band limited to f,,Hz by time division
multiplexing will require a minimum bandwidth of
@ fa () 2f © Nfa @ /N

Tadifeld dfsy @Y% & garer fhas fav far Smar §/Automatic gain control is used
(a) TET TS & FHERVT Fl IXETT A & [0/ To maintain the tuning correct
(b) G F 33 FASI T JTeTdT FF It & ToIw/To reduce the volume of loud passages of music
(c) 3=u 3Mgicd H ya¥is sgTl & frw/To increase the amplification at high frequencies
(d) fafde= vereramarer T2« & UIed gl deFd 3TITYE hT HATT Teldl 10 TW & forg /
To maintain the same volume of output when stations of different strength are received
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10.

11.

12.

TS IROT AR & GO, Jedelicrh M § el Al Fehdl, &1
The rotor of an induction motor cannot run with synchronous speed because
(a) oot [ TH FT Seargs a1 SU/Lenz’s law will be violated

(b) d ot T & 3T = graT/Rotor torque will then be zero
(c) SROT AR, FedeadhAre &= ST/ Induction motor would become synchronous motor
(d) aTg woleT, TET &Tel | ek & 8/Air function prevents it to do so.

TUR &g F9EIT BiEds &1 YO & & v Fia-ar f@axor sred g/Using negative feedback for

2 2
improvements, which statement is false

(a) dedrds diars/Increased bandwidth

(b) sedl W@/ Increased noise

(c) ey fawgur/Decreased distortion ,

(d) 3T geTYe SfaaTeT Aféh =T 3m3eqe yfdsTen/High input impedance but lower output

impedance

U TP # 4 kQ F gAqe dideraradr 80 kQ @ IT3CIT UfAEET ¥l 10% $sdE &
g Gizds aRuy F gEer SEET fRar oier g1 afE fagd urRr & emst 90 &, & dad urer
e g 33eqe Hiaare §

An amplifier has input impedance of 4 kQ and output impedance of 80 kQ. It is used in negative
feedback circuit with 10% feedback. If open loop gain is 90, the closed loop input and output

impedances are .
(@) AU 40 kQ Tur8 k40 kQ and 8 kQ respectively

(b) FT: 4kQ TAT 80kCV/4 kQ and 80 kQ respectively
(c) @A: 0.4 kQ TUr 800k/0.4 kO and 800 k€2 respectively
(d) war: 8kQ T 160kY/8 kQ and 160 kQ respectively

T 4RT IROnfAT #H/In a current transformers

(a) TSHd va Qs Al & adiat T HEAT STeTeHT AT giii/the number of turns in
primary and secondary windings are nearly equal

(b) THS IIAT F Tl Flet TWASHY Fcladl shT HEIT g BIET §1/the number of primary turns is
very small as compared to number of secondary turns.

(c) T aTAT & T Flot TRAREY Fcladl b7 HEIT agd BIET §1/the number of secondary turns
is very small as compared to the number of primary turns

(d) ITET(a) 3r™ar (c)/either (a) or (c).

IR Poc =100 &, @ 10 pA $ FUR ORT F AU AT 3ol A URT AR H Hod fraan
£72/For a base current of 10 pA, what is the value of collector current in common emitter if Bgc = 100
(a) 10pA (b) 100 pA (€) 1mA (d 10mA
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13.

14,

15.

16.

17.

U GRUNTAT &1 adel 3eqard 20:1 §, Tfe Ghsll & a1y 10 Q &7 &R Sisar & dl, ggal &
fegstarer yamar gfader fasr gem?/The turn ratio of a transformer is 20:1, if a load of 10 Q is

connected across the secondary, what will be the effective resistance seen looking into the Primary?
(a 2kQ (b) 4kQ (c) 8kQ (d) 32kQ

AFAfai@d # & Pla-ar fGawor ¥ 8/ Which statement is correct?
(@) oroidy ve Arade, URT At gfFaar §1/BJT and MOSFET are current controlled devices

(b) oicY, aieear mafad § siAate, amr afa gfaa §1/BIT is voltage controlled and
MOSFET is current controlled device
(c) reier ua Arathe, atecar afad gfFadr 8 I/BJT and MOSFET are voltage controlled devices

(d) S, e fRifa § siReAtathe, aleed f@af¥d gfFa §1/BJT is current controlled and
MOSFET is voltage controlled device

yfdoas R @ & & T wF 100 Hz 65 aier & —— & gfaaf@a fear smer =nfgu)/
To satisfy the sampling theorem, a 100 Hz sine wave should be sampled at
(@ 10 Hz (b) 100 Hz (c) 200 Hz (d) 50 Hz

oy & @iv ofitvy & g% gfatus R 36 # 8 o & ffaa gor g1 ffaw 9 e ®)
gt T ST T FaT gem?

All the resistance in the circuit in the figure are at R ohms each. The switch is initially open. What
happens to the lamps intensity when the switch is closed?

x
X

(a) & STar ¢/Increases

(b) 3raRafdd giar &/remain same

(c) ¢ STdrg/Decreases

(d) R & e W TfAd/answer depends on the value at R

& Aoft R-L-C 9Ror # R=50 Q, L =100mH @ C=1p F g1 g1 9IRIY Hir A=Ay
BHEr_ﬁFT B/A series R-L-C circuit has R =50 €, L =100mH and C=Ip F. The resonant frequency

of the circuit is
(a) 30.55kHz (b) 51.92kHz (¢) 3.055kHz (d 1.92kHz
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18.

19.

20.

Z2fT a9y A | &1 Hed §/In the circuit shown, the value of I is

T 28 ohm

(9 4 ohm g 5A @/) § 8 ohm

@ 1A (b) 2A © 4A @d 8A

T & a2fT 6 VR s & oo Sfader g gidr § 3R & Sie 5 mAl R &1 foeras
Hed forae &, To9@ sgdr Eﬂﬁ dieear 6 V ¥ &H & &l/The 6 V zener diode shown in the

figure has zero zener resistance and a knee current of 5 mA. The minimum value of R so that the

voltage across it does not fall below 6 V is

50 ohm
MW
e T sv § R
(a) 1.2k ohms (b) 80 ohms (¢) 50 ohms (d) 0ohms

g% WOT & 5 $T W B-are AR AR vaud & 85 $Hi wisre Fegar & s ¢

The Bandwidth of an n-stage tuned amplifier, with each stage having a bandwidth of B, is given by

B B
@ - C)
(c) BV2i/m—1 (d) B
’ 2n—1
6 EC43/15



21. Ry & v ARPFT ofeael F T AT 3chod UFCahIR & &9 # §difod fe@mr gl
qiXger Fr oid H@IAET dleedr o9 —— §/Given figure shows a silicon transistor connected

as a common emitter amplifier. The quiescent collector voltage of the circuit is approximately.

+20V

§ 10k § 10k

iy VoL

¢ -
B & beta = 100

§ 5k §10k

JH

@) 2013V (b) 10V © 14V d 20V

22. UF SR Clewoieel A gaded ud g ——— # T&ud g/ln a junction transistor,
recombination of electrons and holes occurs in
(a) had 3TUR &T/base region only
(b) A IcH &TA/emitter region only
(c) ad TIATEY &F/collector region only
(d) Tl AT a¥F/all the 3 regions

23, UF fETER & HfhwaR Fof-a Y e 50 mW ¥ A FIEr SeuerE deedr 10 V ¥ ar
gfeeeX & vafed aa g AT gUad daer arr fhaer €?/The maximum power

dissipation capacity of a transistor is 50 mW. If the collector emitter voltage is 10 V. What is the

safe collector current that can be allowed through the transistor?

(a) 5mA (b) 2.5mA
() 10mA d 25mA
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24. giygey F TATAT AT TifeeiEel ——— H TaraT ATar §/The transistor in the circuit shown is

operating in

+5V

L.

100k

2
L

.|[

o

A==
|

(a) 37 &F/cut off region
(b) TfRT &F/active region
(c) Wed &d/saturation region

(d) v ar afsa 3raar §fea Sa/either in the active or saturation region

25. #eg frswdlr qob-adel vwer-eRor e aRuy, R{u v R & quEegEr 2 s@E @
FAT &1 WA STAIS T rms dleedl &/The centre tap full-wave single-phase rectifier circuit uses

2 diodes as shown in the given figure. The rms voltage across each diode is

1

2k
2 (v 280 Vrms
AC MAIN
g L/
w2 280 Vrms

i

@ 790.7V (b) 3953V
() 280V ) 2013V

A 8 EC43/15



26. %UW%H:&&%WW%A@"BEﬁaﬂ‘iﬁwwmﬁvm:4sinwta:ra§mw
mm%tmﬁ%mm?ﬁlEﬁﬂﬂAUﬁwaaﬁrqﬁmﬁmAvolmge

source Vpg = 4 sinwt is applied to the terminals A and B of the circuit shown in the given
figure. The diodes are assumed to be ideal. The impedance by the circuit across the terminals A

and B is
A D1
%l
D2 g
@ 4 Sin wt . 10K
10K
B
(@ Sk (by 10 k (c) 15 k (d 20k
27, Y Uit afEwEe IRy # gdecdt & HIAES <20 V £1/In the transistor circuit shown
below, the collector to ground voltage is +20 V.
+20V
o)

47K
+10V & —AM—

7\

-0

Haer Teufa &/The possible condition is

(a) TAE-3choreh SfHeTel I BIeT foha 3T/ Collector-emitter terminals shorted
(b) 3{\-3'?[?1?1' &1 IcHAS gﬁl’gﬁ Jemitter to ground connection open

(¢) 10k ohms wfaRierer Gamg3/10 k ohms resistor open

(d) FIE-3MER el st fehangam/collector-base terminals shorted

A ; 9 EC43/15



28. T 99y & AT GRT I @9/Current I for the circuit shown will be
16

Fo1l
el

6.2V § .
=0 J)

-18v

(a) 3mA (b) 2.81 mA (¢) 6.16 mA (d 10mA

29. RGw v R &F Ui 3t Seadh, 3RTaH dgifas For RAEUOT veeT frar o

HHdT B/RC network shown in the given figure can provide maximum theoretical phase shift of

AN O

@ 90° (b) 180° ©  270° ) 360°
30. op-amp FH YN FArS AT ST gRGY F — T LA circuit using op-amp shown
below has
R1
AV
R1
o MW

Vout

Vin

o
(a) dreedr AUl G:1T0T/ Voltage series feedback
(b) dreedr 278 Ya1:3—0T/Voltage shunt feedback

(c) YRTAS YeT:3R0T/Current shunt feedback
(d) R Aoft GoT:8ROT/Current series feedback

A 10 EC43/15
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31.

32.

33

34.

forg & =T d% aRuYy & 3m3eye & fov geiiga @@ §/Boolean expression for the

output of the logic circuit shown in the figure is

>

() Y =AB+AB+C (b) Y=AB+AB+C
() Y=AB+AB+C (d Y=AB+AB+C
UF JHlwAs aRTy # R o &1 A 3Eeqe —— WA &d @/In a sequential circuit,

the outputs at any instant of time depends
(a) &7 H RggAeT saga‘i 9T ATH/only on the inputs present at that instant of time

(b) Y& % HT3CYEl e aciATT Yl TR/on past outputs as well as present inputs
(c) Y& & geTqel 9 AF/only on the past inputs
(d) = 3TI3‘€33T IR ATA/only on the present outputs

0F 1023 dF F35 F & 0 U fA3murly F3st aRIY & fFHT Fa §q fhasr vwuw
3978ra §2/How many FFs are required to build a binary counter circuit to count from 0 to 1023?

(@) 1 (b) 6 @ 10 d 24

Rw av R F fmrnger & ds A & s av v Tav-rara & o, seeged w®e &
s
unusable state corresponds to

& &/For a flip-flop formed from two NAND gates as shown in the given figure, the

SLe )
O Q
o
L —
(a) X=0,Y=0 (b) X=0, Y=1 ) X=1,Y=0 d) X=1,Y=2
11 EC43/15



35.

36.

% i 8

38.

39.

1024 = 8 foe @Rs & AFY & vgH §@ G &/The address bus width of a memory of size

1024 x 8 bits is
(a) 10 bits (b) 13 bits
(c) 8 bits (d) 18 bits

UH FAGR GREdd ST § fae T T & uRads A FReA H FEAT EThe number of

comparators in a parallel conversion type 8-bit A to D converter is

@@ 8 (b) 16 ) 255 @ 127

3-fe RfSee 3m3ee F aREfdd & F AT 0 & 8V I & U&F &9 dieed H 31

FAE e # fFefad fFar Srar &1 3iftehde Farseeor i 8/ An analog voltage is in the

range of 0 to 8 V is divided in eight equal intervals for conversion to 3-bit digital output. The

maximum quantization error is

(@ 0V (b) 0.5V © 1V d 2V

UF VHF dg® # 100 Hz Eha ¥ 3cuiied Hgicd fawere 50 kKHZ &1 3Tgfcd Hgael Fashish
g/The frequency deviation produced in a VHF carrier by a signal of 100 Hz is 50 kHZ. The

frequency modulation index is

(@) 100 ¥f3T=a/100 radians (b) 250 IFET=H/250 radians
(c) 500 IBT=w/500 radians (d) 750 IBI=w/750 radians

NPN gifeseer #, 9 3o I 3afeRs sof@a § 3k o afr g sufda ¢ a9
TfesTEed ST WaTelsl —— H g19/In NPN transistor, when emitter junction is forward biased and

collector junction is reverse bias, the transistor will operate in

(a) HTHT &F/Active region (b)  ®TCd &i/Saturation region
(c) 3ide &9/Cut off region (d)  =geha &l/Inverted region
12 EC43/15



40.

41.

42.

43.

44,

TR, Udh Ngarels {13"@?[ & St ——— & T H FT FIAT /A triac is a semi-conductor device

which acts as a :

(a) 2 cfFaar veigel Ba9/2 Terminal unidirectional switch
(b) 2 cfFae gfafgel ffa@/2 Terminal bidirectional switch
(c) 3 cfA=rer gfafesia f¥a@/3 Terminal bidirectional switch
(d) 4 eferer sgfeei ffaa/4 terminal multi-directional switch

U THsCr @ —— 8iar &/A FET has
(a) 31 3%e gerqe Gfaie/very high input resistance
(b) TEIFAZALE gfoRI/very low input resistance

(c) 3=adleedr 3cqsis giti/high voltage emitter junction

(d) 3731 SATHPN HiW/forward bias PN Junction

CE UfPcaaril & fhdsr |l =@Roll Sheasdsade Thd & Yaural Jfaeiaeglam?/How
many cascaded stages of CE amplifiers will result in polarity inversion of the input signal?
(a) gal/Two (b) @/Three

() =R/Four (d) %o g /None

i@ & & 3Rwdn afaarer faas gFa @la-dr §2/Which of the following is the fastest

switching device?

(a) SUESA/IFET (b) SSEVBIT
(c) HFHT/MOSFET (d)  TrEE/Triode

UF OfY 87 vHE grieeeel
Transistor can operate in
(a) @ faf®r ATF/depletion mode only

H wenfard far S F@ear g1/A junction Field Effect

(b) wgfg fafer ATa/enhancement mode only
(c) @I vd Hafg fafti/depletion and enhancement modes
(d) =g 3 7 #gfig Rftneither depletion nor enhancement modes

13 EC43/15



45. yeaTadt URT aET ¥ F Hed H T UF ——— 3uid w1 giaA e #ar §1/The form

46.

47.

48.

49.

50.

factor in reference to alternating current wave form represents the ratio of
(a) 3RUATH Heg T radeT Hed/the average value to the RMS value

(b) IRUHATH Hed I ElECey #Hed/the peak value to the RMS value
(c) 3Hradas Hed &1 IRUATH Hed/the RMS value to the average value
(d) fRrax o T AIRVATH Hed/the RMS value to the peak value

Teh UFFCTHIIX i —— T §/An amplifier should have

(a) 3I=d dgddi/High fidelity (b) =T @/Low noise

(c) Turdl garered/Stable operation (d) 39T @ef/All of the above

Ush TG IRUNTHT ——— T JANT AT 8/A pulse transformer uses
(a) WAIST S/ ferrite core (b) @ HR/air core

(c) Igr ®R/iron core (d)  dreT®R/copper core

aIfeT f&rRar & v sehesaid 9aa —— #/Barkhausen criterion for oscillator stability is
(@) AB=0 (b)  Ap<l

(c) Ap=1 (d)  A=1/sqrt(B)

gréalr aifers aRuyr & fow ey 3T Fi9-a1 §2/What suits best for a Hartley oscillator circuit?
() YeT#ROT & foIT Uesh FemRal/a Capacitor for feedback

(b) GAEROT & TOIT Ueh JeRIereh 3 @YTia/a resistor and capacitor for feedback

(¢) YeTEROT & foIT weh ¢T3 HUTRA 2T 9Xh/a tapped capacitor and inductor for feedback

(d) 9RO geARoT & forw Ueh o UXeh/a tapped inductor for inductive feedback

UF WFCAGRR & Tou fteds oy Saarel geAe (Sfoen) fafr g/For an amplifier the

coupling method which gives the highest gain is
(a) 9RUNfAT FeoAat/transformer coupling

(b) foRred gFH=/resistance coupling
(c) wfderer gas=t/impedance coupling
(d) #enR= geAsT/capacitance coupling
14 EC43/15



&l.

52.

53.

54.

85.

16 T fsed & & T ey Bag Farg giayl §r 3maeasar §? How many Flip flops
circuits are needed to divide by 16?

(a) @l/Two (b)  TR/Four
(c) 3T3/Eight (d)  @rg/Sixteen

8085 FEH! WHEX #F URH: AW GEAT 8 TG Y S gl IfE g§ @EA W al §N
RO IR FHifad far ST ¥ ot wfed sifaw dear gl

In 8085 microprocessor, initially the number decimal 8 is stored. If instruction RAL is executed
twice on this number, the final number stored will be

(a) gGUHcIG/decimal 8 (b)  EeHa/decimal 800
(¢) gerHwa/decimal 32 (d) guHAFT/decimal 2

600 x 400 & 1 & RS gelw & @ vgF g F TFwel A FEA g/ln a display

specified as 600 x 400 the number of pixels across the display screen is
@) 600

(b) 400

(c) 24000

(d) 39Fd H T F1S FL1/none of the above

e T ey YRRYE & deearud 24 V ¥ 3R @@ vafga unr 6 & dr 9ioRiusE H{ed
(30 ) ¥/If across an ideal resistor, the voltage drop is 24 V and the current passing through it is

6, then the resistor value (in ohms) is

(a) 144

(b) 4

© 025

(d) 3URIFd # ¥ IS Fg/none of the above

T § & S srsd S = 3tgasa @9t glar §2/Which of the following IC
logic families has the highest fan-out? ‘

(a) &ETA/TTL
(b) HTAITH/CMOS

(c) SHTE/ECL
(d) e drérwet/Schottky TTL

15 ECA43/15



56.

57.

58.

59.

60.

S ieeeedl &1 P IO H g A Sar § a9 & @A # TV S

#/When transistors are used in digital circuits they usually operate in the:
(a) @FRT &iF/active region

(b) &1 &¥9/breakdown region

(c) W vd 37 &i/saturation and cutoff regions

(d) Y& &1/linear region

AZH WEERT A OEEr (G @isfhd), thHr (bed dpfRe) gur & (vfEeegre
i) %mw Fafera 8/ In microprocessors, the IC (inStructipn cycle), FC (fetch qycle) and

EC (execution cycle) are related as

(a) IC=FC-EC (b) IC=FC+EC
(c) FC=IC+EC (d EC=IC+FC
TF 256 x 4 SRA F 21 ¥1/ A 256 x 4 EPROM has

(a) 8 U3W =T uq 2 31T fU=1/8 address pins and 2 data pins
(b) 8 uzH U= Ud 4 =1eT TU+1/8 address pins and 4 data pins
(c) 8 vad U= uq 8 31T [=/8 address pins and 8 data pins
(d) 256 T3H T U 4 3TeT TA4/256 address pins and 4 data pins

AB §fogs cdei® ———— & A §/The Boolean expression AB is equivalent to
(@ AB (b) A+B
) A¥B @ A+B

——— ¥ U 30 TlI9 UK 7 fasies T gig T ST @ &1 /The resolution of a dual

slope ADC can be increased by
(a) e arecar gReoT Sg=/Increasing the reference voltage magnitude

(b) faer areear aRefe Se=/Improving the reference voltage accuracy
(c) @TerE Hgicd Semi/Increasing the clock frequency
(d) e TR Fgle/Increasing the clock stability

16 - ' EC43/15



